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g S 14| 13 13| 10] 13
HISE 23| 22| 22| 32 32
EZER () 3 5 6 7
n (ERRE) 4 1 4 5
n (B#) 9 3 14 6
s n (TRETHR) 1 1
n (FRE) 1 1 1 1
R ER () 4 1 1 2
n (OfE) 2 4 3 2 2
EZE(F) 3 1 2 5 3
n (BIBEER) 4 4 1
EMERELSES 11 10 6 1 10
BRI E KZE 12 7 6 6 5
FIIXKE 7 6| 11| 14 7
BIRKE 11 8 4 7 7
EERIRE 1 5 6 6 9
K= 1 3 3 2 3
NN T ERE 2 1 1
BRAHEKE 2
RIGKZE 1
REAXE 1
RaKE 1 1 1
BIEXZE 1 1
BRBk K2 1 2
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SERL |SERL SRR |RF0 |SA SERL |SERR |SERR |SF0 S
BRI KE BfREXE 4 6| 5/ 10| 4
BEFHIKE EBERRKE 4 31 5 9 2
AR K BRiaXE 9 1 71 8| 3
HERERMEXZ FLERKE 4] A 6] 3
SR ERE MHKE 4] A 1 71 1
RRAILKE hRKE 5 2 1 7 1
HUETL KRS EBKE 2 3 1 6 1
REERKE EEXE 1 2
BRI KRE HRERXZ 6/ 3| 10| 5] 7
BRI KRE BAXZE 6/ 10| 3 1 4
I B R K2 BFEKRZE 2 2l 2
FBESUEE#T R EiE K 4 2 1
F IR LK EEXFE 2 1 1 2
BHIE K R KE 23| 21| 27| 21| 51
BRIRIEMIKE REFRKFE 21| 15| 16| 30| 25
ZEHEBHIAE RIS KE 15| 9| 17| 35| 21
BRILAI K ILAEEKE 49 20| 50| 44| 27
REAFLKRE REEEKRF 22| 5| 13| 17| 17
REFFIIERKE 1 ik PN 56| 41| 39| 55| 93
AR K 1 5 1 BmKE 3 3 2| 51 2
RERFFLKRE 1 4 3 EERKE 17 1 8| 7| 14
EERIKE 3] 4| 4 2 MEXZE 14| 10| 15[ 15] 10
METNEZEKRE 2l 1 1 1 EEXEKE 28| 37| 41| 34| 23
RBRERIKFE 1
AN BRIREE RS 2
FRAIKE
EILEIIKRE 4
BEMHILKE
B LRERE
R KE
LEMIIKE
WA RFEERKE 1
TEAMIKE 4 5
IWARIIKE 1
FNEIRBERKRE 1 2
ERBIERRMTAE 1 2
EEIREKE 2 3 3
SHIEIIKE 1 3] 3 2 3
AN ILRE 4 1 1 1
R RE 2
fEEZFKRE 2
RIFETKF 2l 1
AR E 1 1 1 5




